03166-10 &R EA T AKX E

7= Gk e
M
BEIRER,
e S

g
RERZERARE,

BR:
FHFRASFRE T HHES,

FIHREBRARME , FE 15° WK N,

EBHERZE  ENERBERTF , HEERXREHENTRRE

MMEERETH,

4 03166-10-01910 WK Z{TIESHEH 15° £@ 0.025 mm, EILRK

K1TER 0.07 mm. HEAAFRZITEN 0.38 mmo,

4 03166-10-04950 YR ZATIEN FhEH 15° B[ 0.05 mm, BILK

KRR 0.1 mmo RAAFRZITEN 0.64 mmo

EMVRAEIEBES.
ITHEERE : £0.02 mm,

fEFHER :
RERBIEHUFEIRFITE,

HERSE -
SNTH., HBAREHA,

HEEE
AR BRERHMR A RBIER,

B & : k4,
SEATEERHPE LR, (QFIRZES )

BEET :
1) BAE LR

© norelem www.norelem.com



03166-10 fajk EA TR R

® D1

H2
8

H1

H5

H4

D1

H2

H1

H4

03166-10-01910 f’;’fé A 1239(19,1 38,1| 29 | M3x16 50,8 20,1(6,4 35,6 22,9|4,6/2,5 6,8 254 81,5 25-159 17,3
03166-10-04950 f'%;% A |559|49,5 76,2|63,8 M5x22 88,9 50,5(6,4 48,3 32,4|5,1/2,5/11,1/36,2 135,5 5,1-457 17,8
03166-10-01911 5% B |23,9|19,1 38,1 29 | M3x16 - - | - 356 229|46/25/68 | - - 2,5-159 -
03166-10-04951 5*% B (559|495 76,2|63,8 | M5x22 - - | - 483 324|51/25/11,1| - - 5,1-457 -

© norelem www.norelem.com



